ASTAAMERICA

BY JANUS INTERNATIONAL

SERIES 800 ROLLING GRILLE

Installation Guide

This installation guide is for left-hand charge. If your grille has a right-hand charge, please
adjust installation of endplates accordingly.

l =1 VIEWED FROM COIL SIDE _] i

CON
oz a

i
¥ i
4

)

(2]
L BT TS =
I GE SIDE

LEFT HAND CHARGE RIGHT HAND CHARGE

Please refer

to drawing

for proper

orientation.




Index

Supports and Endplate Installation

Between Aluminum Angles page 1
Between Steel Angles page 5
Between Jamb page 9
Between Telescopic Tubes page 12
Between Steel Tubes page 16
Curtain Installation page 19
Warranty page 26

SAFETY WARNING

Only trained door installation technicicians should install,
reset or perform maintenance.

- All electrical connections are to be performed by qualified
individuals and must confrom to local codes.

- Door is under spring tension and can cause serious injury or
death. Please take proper safety measures when adjusting
tension.

- ASTA America is not responsible for an improperly installed
door assembly.




MOUNTING OPTION

BETWEEN SERIES 800
ALUMINUM ANGLES

RECOMMENDED FASTENERS

TYTPCE V?/FHICCUHNFSATSRTUE(IZ\ITEIRON TYPE OF FASTENERS TO USE HOLESIZE | - TAP SIZE DEPTH
EMBEDS (ORILLDIA) | (FREQD) OF HOLE
@3/8"X 2" LAG BOLT @3/16" 1-1/2" MAX
WOOD
@1/2"X 3" LAG BOLT @5/16" 2-1/2" MAX
@3/8"X 2-1/8" WEDGE ANCH. @3/8" CARBIDE 1-5/8" MIN
@1/2" X 2-3/4” WEDGE ANCH. @1/2" CARBIDE 2-1/4" MIN
CONCRETE
@5/8" X 3-1/2" WEDGE ANCH. @5/8” CARBIDE 2-7/8" MIN
@3/4”X 4-1/4” WEDGE ANCH. @3/4" CARBIDE 3-1/2" MIN
MASONRY @5/8" X 2-1/4" SLEEVE ANCH. (@1/2” BOLT) @5/8" 2" MIN
OR BRICK @3/4” X 2-1/2" SLEEVE ANCH. (@5/8” BOLT) @3/4" 2" MIN
@3/8" BOLT @5/16" 3/8"-16UNC
STEEL @1/2" BOLT @27/64" 1/2"-13UNC
@5/8" BOLT @17/32" 5/8"-11UNC
@3/4" BOLT @21/32" 3/4"-10UNC

T PARTS LIST

...........

Aluminum Angles

(x2)

Charge Bracket

g

Bracket Washer
x4)

Idler Bracket
(x1) x1)

=3 Bracket Bolt
1/2-13x1-1/2
(x4)

ASTAAMERICA

BY JANUS INTERNATIONAL

S

Door Guides

(x2)

Bracket Nut

1/2-13
(x4)

Guide screw R2 Pan
#10x3/4” Sheet Metal Screws

(x20)




o SERIES 800 ALUMINUM ANGLE INSTALLATION

E INSTALLATION Z INSTALLATION am==E === The Width to

| > | =l r anconnd
/ A < | [ BaE =

: distance and
aluminum angle aluminum angle | oL L. | total height, can
..., | befoundonthe
-] drawings.

3

1
iy

! guide

E | N STA L LATl O N Locate center of the opening, then mark off the distance* from the

center line to locate angle placement (*Distance will be half the width
to back of guides + 1/4”). Mark location with plumb lines.

/7 /A N N
// WALL // o &\“_WALL \\\
V77777777 [} 2 \
818
hi | b
| b
e orcupeT e P | Toskoraubes e P
|

WIDTH TO BACK OF GUIDES (+ 1 3/8")
Location of Location of

plumb line. plumb line.

Z | N STA LLATI O N Locate center of the opening, then mark off the distance* from the

center line to locate angle placement (*Distance will be half the width
to back of guides). Mark location with plumb lines.

//////////// 7 Cocation of . | \ \\\X
/ Do ____.\/p?ﬁri bline. I t‘?ﬁ?.?&@“

i
i
i i

HALF OF WIDTH

. HALF OF WIDTH
TO BACK OF GUIDES

TO BACK OF GUIDES

> ]

— !_ _CGENTEROF_

WIDTH TO BACK OF GUIDES

NOTICE: Angles must be plumb and level with each other. If the angles are not plumb and leveled, the gate
may not operate properly. This may cause one of the angles to NOT sit on the floor, if floor is not level.

ASTAAMERICA 2

BY JANUS INTERNATIONAL




2 "side of
angles to .
be placed
onto
Measure and mounting Place
level angle surface. er)d
heights.The with
full height s
measurement bracket
can be found holes
on the up.
drawing.
Z INSTALLATION E INSTALLATION
Align angle to : : Align angle to
plumb line ' Y L plumb line
with angle AT > "\ with angle
running away [ ) zh |0 9 | running towards
o - I = .
from the 5 T = | the opening
. = o1 o
opening : . S
: :
: 1 |
1 1
PLUMB LINE ! Drill marked holes and
—a fasten angles to surface
L : using appropriate fasteners
= 1 (Not provided. See the
g :Recommened Fatener chart
2 :on page 2).
[a W
X
)
1
1
1
1
1
1
1
1
| |

Mark and drill holes and fasten angles to surface using appropriate fasteners
(Not provided. See the Recommened Fatener chart on page 2).

ASTAAMERICA

BY JANUS INTERNATIONAL




9 BRACKET PLATE INSTALLATION

Z INSTALLATION E INSTALLATION
MI e
||
P
O\L "
| e
Ml B
CHARGE IDLER CHARGE IDLER
SIDE SIDE SIDE SIDE
coiL
LH CIDE RH LH (S::)DIIIE RH
9 GUIDE INSTALLATION
p //% Z INSTALLATION \\\\ <
Y . I
ANGLE ANGLE
< I <m{) #10x3/4” screws  (mws I >
GUIDE GUIDE

E INSTALLATION

PLEASE PROCEED TO PAGE 19 FOR CURTAIN INSTALLATION

ASTAAMERICA

BY JANUS INTERNATIONAL




MOUNTING OPTION

BETWEEN STEEL ANGLES
RECOMMENDED FASTENERS

TYTPCE \(/)VIF-HCCUHNFS;SRTUECIZ\ITEIRON TYPE OF FASTENERS TO USE HOLESIZE | TAP SIZE DEPTH
EMBEDS ORILLDIA) | (FREQD) OF HOLE
@3/8" X 2" LAG BOLT @3/16" 1-1/2" MAX
WOOD
@1/2"X 3" LAG BOLT @5/16" 2-1/2" MAX
@3/8" X 2-1/8" WEDGE ANCH. @3/8" CARBIDE 1-5/8" MIN
@1/2" X 2-3/4" WEDGE ANCH. @1/2" CARBIDE 2-1/4" MIN
CONCRETE
@5/8" X 3-1/2" WEDGE ANCH. @5/8" CARBIDE 2-7/8"MIN
@3/4" X 4-1/4" WEDGE ANCH. @3/4” CARBIDE 3-1/2"MIN
MASONRY @5/8" X 2-1/4" SLEEVE ANCH. (@1/2" BOLT) @5/8" 2" MIN
OR BRICK @3/4" X 2-1/2" SLEEVE ANCH. (@5/8" BOLT) @3/4" 2" MIN
@3/8" BOLT @5/16" 3/8"-16UNC
STEEL @1/2" BOLT @27/64" 1/2"-13UNC
@5/8" BOLT @17/32" 5/8"-11UNC
@3/4" BOLT @21/32" 3/4"-10UNC

Angles provided with 3/8” holes. Should a larger fastener be needed, drill out the
hole as required.

PARTS LIST

Charge Bracket

Q)

=3} Bracket Bolt @ Bracket Nut
1/2-13x1-1/2 Bracket Washer 1/2-13
(x4) (x4) x4)
o
—_

Idler Bracket x1)
x1) Guide Washer
(x20)
- 7 |

< jD Guide screw

. R2 Flat
Door Guides (x2) Guide Nut #10-24x1

#10-24 (x20)

Steel Angles (x2)

ASTAAMERICA

BY JANUS INTERNATIONAL

page

)

OF 26



0 STEEL ANGLE INSTALLATION

E INSTALLATION Z INSTALLATION The Width to
7 A // ‘ back of guides

5 — distance and
[steel angle steel angle total height, can
be found on the

iy drawings.
T ide
ui
¢ 9 7]

E | N STA L LATl O N Locate center of the opening, then mark QH the dis.tance* from th(_a

center line to locate angle placement (*Distance will be half the width
7 ////////7
/ WALL /
rrrrrz7 i)

to back of guides + 1/4”). Mark location with plumb lines.

’ . HALF OF WIDTH HALF OF WIDTH
TO BACK OF GUIDES (+ 1/4") TO BACK OF GUIDES (+ 1/4")
WIDTH TO BACK OF GUIDES (+ 1/2")

Location of Location of
plumb line. plumb line.

A OPENING

- !_ _CENTEROF_

Locate center of the opening, then mark off the distance* from the
Z | N STA I—I—ATI O N center line to locate angle placement (*Distance will be half the width

to back of guides). Mark location with plumb lines.

/, |
7// /CV{A{{//// Locationof  &ig Location of \\ " WALL | \\\\
. 5|Z
V77777777 ‘A\/Fﬂumb line. 2 plumbline’
...... 215
|
¢ HALF OF WIDTH | HALF OF WIDTH ’l
< TO BACK OF GUIDES >:< TO BACK OF GUIDES >
|
< WIDTH TO BACK OF GUIDES >

NOTICE: Angles must be plumb and level with each other. If the angles are not plumb and leveled, the gate
may not operate properly. This may cause one of the angles to NOT sit on the floor, if floor is not level.

ASTAAMERICA 6

BY JANUS INTERNATIONAL




2 "side of
angles to N
be placed
onto ‘ o -
Measure and mounting Place
level angle surface. A end
- heights.The with
full height s
measurement bracket
;g c@n be found holes
1 onthe up.
E drawing. .
1
) Z INSTALLATION E INSTALLATION i
Align angle to : i Align angle to
plumb line ' “ : plumb line
with angle ﬁ7': = K TF with angle
running away E g 2 J , | running towards
from the 0 E g:‘ | Z the opening
. 1z an 0
openin o
Pening : : : ? S
I i
1 1
if I
— [ |

Mark hole locations.

AN

L

PLUMB LINE

I Drill marked holes and

1

1 fasten angles to surface

: using appropriate fasteners
___—T" (Not provided. See the

: Recommened Fatener chart
I onpage?2).
]

ASTAAMERICA

BY JANUS INTERNATIONAL




BRACKET PLATE INSTALLATION

E INSTALLATION

Z INSTALLATION

-1
(N ) B |
- -

CHARGE IDLER CHARGE IDLER
SIDE SIDE SIDE SIDE
LH colL RH LH colL RH

SIDE SIDE

GUIDE INSTALLATION

Z INSTALLATION

E INSTALLATION

PLEASE PROCEED TO PAGE 19 FOR CURTAIN INSTALLATION

ASTAAMERICA

BY JANUS INTERNATIONAL




MOUNTING OPTION

BETWEEN JAMB
RECOMMENDED FASTENERS

TABLE 1 GUIDES

TYPE OF TYPE OF FASTENER HOLE SIZE TAPSIZE DEPTH OF HOLE

CONSTRUCTIONTO | TO USE (DRILL DIAMETER) (IF REQUIRED)

WHICH FASTNER

EMBED

wWOQoD #10X 2 " WOOD @ 1/8” 1-%2" MAX
SCREW (PROVIDED)

CONCRETE #10X 1-% ” WOOD @ 1/4 " CARBIDE 1-% “ MAX

SCREW WITH #10
PLASTICSHIELD

STEEL @ %" BOLT #7 %"-20 UNC
HOLLOW METAL %-20 SELF DRILLING | @ 13/64”

AND TAPPING

SCREW

TABLE 2 BRACKETS

TYPE OF TYPE OF FASTENER TO USE | HOLE SIZE TAP SIZE DEPTH OF HOLE
CONSTRUCTION TO (DRILLDIAMETER) | (IF REQUIRED)
WHICH FASTNER
EMBED
WOQD @% x 3” LAG BOLT @5/16” | —meeeeememeeeees 2- " MAX.
CONCRETE @ %” X 2- %” WEDGE ANCH. @%"” CARBIDE | =---memeemmemeeeee- 2- %" MIN.
@ A" X 3” EXP. SHIELD @ %” CARBIDE | ==--eemmmmmmmmeeee- 3” MIN.
W/ @ %" FHMS
STEEL @ %" BOLT @ 27/64” 7%“-13UNC
MASONRY OR @ %" X 2- %" SLEEVE ANCH. s A 2” MIN.
BRICK (@ 3/8” BOLT)
PARTS LIST 2l
y N
b’ =
Door Guides (x2)
P Cha E )g( (_T )C lip o

N
@)'wmm\ Guide Screw #10

(x20) Idler Bracket Charge Bracket 9
ASTAAMERICA (x1) 1)

BY JANUS INTERNATIONAL




o GUIDE INSTALLATION

f wall E - _:_ DOOR él-ll\lE - _E wall
« » Guide Guide

l Center and level guides on door line.
Check width and Use screws provided in predrilled holes

height of opening. to secure guide.

7~
\

L

4 &u M )

#2 Square

PREDRILLED HOLES
(Number of holes varies)

ASTAAMERICA

BY JANUS INTERNATIONAL



9 BRACKET PLATE INSTALLATION

oug o
NOTE: Bracket >
for charge side
has a “T” slot on
the side. >
LH RH
COIL SIDE

NOTE: It is important to level bracket plates for door to function properly.

Charge Install the Charge Clip now. (See page 21 for charge clip installation)

Clip For ease of barrel installation, tape clip near top of “T” slot. Remove tape after
barrel is installed.

/’
*«+— CENTER OF GUIDE

U % Place bracket

against jamb on

top of guide and
h align bracket holes
with the center of
the guide. Mark and

\ $§L drill holes.
L
25,-n

Place bracket
Eﬂ‘ 0 over holes

and insert
and tighten
appropriate
fasteners (not

supplied, see
chart 2).

N
7 N
/ o N
NOTE: If installing a fascia, / \
install fascia mounting brackets at | ()) l
this point. To be installed on the \
inside of the bracket plates. /
\ /
\ - Y,
~ — -~

PLEASE PROCEED TO PAGE 19 FOR CURTAIN INSTALLATION

11

ASTAAMERICA

BY JANUS INTERNATIONAL



Idler Bracket
x1)

Floor base angle
(x2)

Guide Screw #10
(x 20)

Tube template
(x2)

ASTAAMERICA

BY JANUS INTERNATIONAL

MOUNTING OPTION

BETWEEN TELESCOPIC TUBES
PARTS LIST

Charge Bracket
(x1)

S

Concrete anchor bolt
(x4)

(x2)

Bracket Bolt
1/2-13x1-1/2
(x6)

Door guides

(x2) pD

<

Adapter bit
x1)

Telescopic Tubes
(x2)

Washer
(x6)




o TELESCOPIC TUBE FLOOR BASE ANGLES

/
NOTE: Floor base angles must be square to one another.

E ______________ DO LNE e ﬂ

A
\

\
ALUMINUM TUBEVTEMPLATE

FLOOR BASE

ANGLE

Mark location of installation Drill 1/8” pilot hole. Finish

hQLGS on floor base_angle with 3/8” bit. Install floor

with template provided. base angles with 3/8”

Make sure marks are square anchor bolts (x2 each).

© TELESCOPIC TUBE INSTALLATION
4 Ej 4 ( A

NOTE: Install one telescopic
tube at a time. Tube must be
secure at bottom and top
before installing the second
tube.

0 Inside channel may need to
be loosened and pulled up if

it impedes the installation of

the telescopic tube to the

floor base angle.
'] o= (See Step 3)
3 T
Place aluminum tubes floor Secure tube to angle
ing 1/2” :
\ base angles. ) \ using bolt y . )

ASTAAMERICA

BY JANUS INTERNATIONAL



e SECURING TELESCOPIC TUBES
( ——

N\ N\

Loosen bolts. Press © '
i T T\
bolts in to release
channel. . Extended channel to
structure above.

\_ Secure using method

WARNING: Do not _\/ appropriate to
remove bolts. structure materials.

)\O" J

i

o]

Tighten bolts
to secure
Telescopic
Tubes

RETURN TO STEP 2 FOR SECOND TUBE

Q BRACKET PLATE INSTALLATION

r
o
. /"
NOTE: Bracket for charge side has a— CHARGE
“T” slot on the side. SIDE
(<]
LH 1l coi sipe

IDLER
SIDE

RH

S>>

Insert nut/spring into channel (x2) above aluminum post. Push nut in and

turn to hold in place.

ASTAAMERICA

BY JANUS INTERNATIONAL




( \ -7 . f )
- oms ’ \ 4
~ | \ .
11 V2 U I Check bracket
LA \” / plates for level
\ / and adjust if
> 1 "1\' o ~ ~-7 necessary.
. NOTE: !f |nstalllng a Tighten bolts.
r 7 fascia, install fascia
Place bracket over nut/spring and thread bolts (x2)] mounting brackets at
tight enough to hold bracket but loose enough to | thispoint.Tobe
\ moveup and down. Repeat for other side. y installed on the inside ] )
of the bracket plates.

(5 ) GUIDE INSTALLATION
T

ine up guide with grooves on w ( Use drive screws in
telescoping tubes. predrilled holes with bit

provided to secure guide.

3 1 1) <

Ll
m -
N
(=
1 E
R
O Il I O -
(%]
L
-
L
[

PREDRILLED HOLES
(Number of holes varies)

. SUPPLIED
BIT

\. _ J

PLEASE PROCEED TO PAGE 19 FOR CURTAIN INSTALLATION

ASTAAMERICA

BY JANUS INTERNATIONAL




MOUNTING OPTION

BETWEEN STEEL TUBES
PARTS LIST

{ﬁ__'—
/ 5 @ U 4 Steel Tubes
] Door guides (x2)
> <!
£l j [X ]mm
o
\ e o o
l!ﬂ G
Idler Bracket Charge Bracket
(x1) x1)
Woasher ﬁ
(x6)
Bracket Bolt
1/2-13x4"
(x4)
Adapter bit
(x1) ) p
Guide Screws £10 Concrete c:l;chor bolt .

e

S

O
Floor base angle | Base Mounting

(x2) Nut E| Screws 1/4x20x 17
1/2x13 = (x4)
(x4)

ASTAAMERICA
BY JANUS INTERNATIONAL



(1) BASE ANGLE INSTALLATION

Locate center of the opening, then mark off the distance* from the center line to
locate the base angle placement (*Distance will be half the width to back of guides
+3/16").

HALF OF WIDTH I
TO BACK OF GUIDES (+ 3/167)

‘ OPENING

S !_ _CENTEROF_

l HALF OF WIDTH
TO BACK OF GUIDES (+ 3/167)

-y -

WIDTH TO BACK OF GUIDES (+ 3/87)

[ NOTE: Floor base angles must be )

Using a concrete square fo one another.

drill bit, drill 1/8
in. pilot hole.
Finish with 3/ in.
bit. Install floor
base angles (shim
to level if neces-
sary) with 3/8 in.
anchor bolts (x2
each).

e STEEL TUBE INSTALLATION

"y

+ '-I
'S

Il 1

Hong

il

| IR

—_
| © -
. LU -
.’j = — \‘-‘
: Secure tube to angle using
1/4 in. - 20 machine screw.

ASTAAMERICA

BY JANUS INTERNATIONAL




BRACKET PLATE INSTALLATION

N 4 N
- - NOTE: Bracket for :‘__r
charge side hasa —
“T" slot on the
side. °
CHARGE NON-CHARGE
o SIDE SIDE
/ LH || coilL sipE || RH
VRN J
hY

+

17T .
I U
\ |;

‘\-_,,f

GUIDE INSTALLATION

"

NOTE: If installing a fascia, install fascia
mounting brackets at this point. To be
installed on the inside of the bracket plates.

N e

Line up
pre-drilled holes
in guide with the
predrilled holes

in mounting sur- -

face and fasten
with provided
screws.

U

GUIDE

-

CENTER LINE

PLEASE PROCEED TO PAGE 19 FOR CURTAIN INSTALLATION

Use drive screws
in pre-drilled
holes with bit
provided to
secure guide.

A

PREDRILLED HOLES
[Number of holes varies)

- SUPPLIED
BIT

18

ASTAAMERICA

BY JANUS INTERNATIONAL




CURTAIN INSTALLATION

PARTS LIST

= =
\ J,'r

1 F Handle Screws Top Stop Screw

Curtain &2 1/4-20x1/2 Pull hooH{
x1) (x8) 1)
,// -
r ( A L)
Shaft Locks
(x2)

Handle Idler Barrel Eelzl)s
(x1) Assembly x
(x2)
—— Top Stops
’ (x4)
Charge Clip Key (for keyway)
(x1) (x1)

0 PACKAGING REMOVAL

___— N\
Safely remove \
exterior straps. (

KEEP CARDBOARD TUBE
IN PLACE
TO PROTECT CURTAIN
DURING INSTALLATION.

ASTAAMERICA

BY JANUS INTERNATIONAL



e BARREL ASSEMBLY INSTALLATION

Tighten set screw into keyway
to set bearing assembly position )

( Check Bearing Ring location.)

BRACKET PLATE

‘ P

DIMENSIONS
CHARGE
IDLER
BRACKET —»
PLATE < BRACKET
CHARGE —— :mll
WHEEL Elm: \BEIQF\IIGNG

NOTE: Door must be balanced on
lifting device to avoid tipping. The
center of gravity will be closer to
the charge side.

ASTAAMERICA

BY JANUS INTERNATIONAL

keyway

bearing assembly

-
|

set screw

Zero Clearance option for bearing assembly J'

regular set up

curtain
\
bearing
assembly
| /
_ I
curtain I] zero clearance
|

set up

i -
;_. v
378 |2
m 5
2 5
= 5 =
=17 2 =
S f @ 5
z CHARGE SIDE o o

2 >

Lift barrel/curtain/bottom bar
with lifting device. Line up shaft
ends with bracket plates.

Drop in place.

page




CHARGE

CHARGE END
BRACKET -

IDLER END
PLATE IN‘T*;-_
IDLER
- BRACKET
CHARGE [ PLATE
SPROCKET
END OF
SHAFT END OF
" SHAFT
CHARGE
RM

| -] = '_ 'ﬂ 2
NOTE: Charge arm must be on inside of bracket plate to
engage charge sprocket.

INSTALL SHAFT LOCK

1 =

. N
IDLER BRACKET 4

Fasten with
3/8x 16 x 1 bolts
and 3/8 lock
washers

Shaft lock insert should sit flat
against notch in bracket plate.
| 1f3\
| P .

L1 C
! ]
l y

Place shaft lock insert into bracket
plate.

| r= ~ | CHARGE BRACKET
L ) L 1 1 |

L IJ =

ASTAAMERICA

BY JANUS INTERNATIONAL




0 CHARGE CLIP INSTALLATION

NOTE: Longer side of
charge clip is bottom

9 LOWERING BOTTOM BAR
| l |

( Cut straps and remove packaging to release bottom bar.

Insert charge cllp to engage charge sprocket I

CAUTION: :H"
Curtain is now

loose. Keep

lifting device
under bottom \\

bar to hold up. \

Slowly lower lifting device, feeding bottom bar and curtain into
guides until bottom bar is in top position.

MOUNTING SURFACE

MOUNTING SURFACE

Wi

7/

(

J

MOUNTING SURFAC

ASTAAMERICA

BY JANUS INTERNATIONAL




e TOP STOP INSTALLATION

(f ‘ (—/J;@;__\

\
N\

T d < / 1=
TOP STOPS L = / L L
(%
=g / o S
n n
— / LJ/ o 1° L O
¢ e A E
= / 1= /
o ; 8 / Slide up or down to desired 15 /
Top stops fits into s position. Drill 3/16 in. pilot g
groove on guide. Hold e hole through face of guide.
L/

flush against guide

Secure with 1/4-20x 1/2 in.
/ screw.
\_ J \_

0 CHARGING STEPS

\

A\

= ) 4 M
/r!:sert 'I/2.|n. rod /7 Push charging ?
f |ntcc|> charging arm / armin to L/

and rotate up. / /
| an engage charge
f Et:cklferton Charge / sprocket teeth.?
CHARGE ;
o ) e
: indic;te ? hole to engage¢
number / and disengage [/
Y] of turns / teeth /
(| for charge. |TURNS 07777777/
e —— Z

Z,ZZZZZZZ// ////////
/ Pull down on / Charge Clip %
/ chargearm. 7/ % willmoveup [/
/ You should fee / / and down as it |/
/ resistance as / / engages teeth |/
/ you add 2z / on charge //
/ charge. / / sprocket. /|
7 7 Z /
/

/@777777// /@777777/
Z/

TO REMOVE CHARGE: Put pressure on charging arm to remove tension from charge clip. Hold charge clip up
and allow charge wheel teeth to rotate counterclockwise. Drop charge clip back down to engage teeth.

CAUTION: When adding charge, make sure charge clip is fully in the down position
to lock the charge sprocket.

CAUTION: A charged spring is under high tension. Always use caution around door
components once charge is applied.

page

23

ASTAAMERICA OF 26

BY JANUS INTERNATIONAL




e CHARGE INSPECTION

Pull/push bottom bar down to floor
to test door. Door should operate
smoothly. Add or remove charge if

necessary.

(o X LOCKING

¥

Do

Pull door down to
comfortable level
(chest high)

Turn key clockwise until it stops

turning. Remove key.

J

CAUTION: LEVER IS SPRING LOADED AND MAY POP

— CLICK |

ASTAAMERICA

BY JANUS INTERNATIONAL

UP ON IT’S OWN.

¥

=0

CLICK —

@ UNLOCKING

Turn key counterclockwise
\_ untilitstops. )

Turn lever clockwise into
unlocked position. )

\.

CAUTION: LEVER IS SPRING LOADED AND MAY POP
UP ON IT'S OWN.

%

dbo

Lift door up
to ceiling.




NNNNNNNNNNNNNNNNNNNN

OPERATION INSPECTION

7@

MOUNTING
SONNNNNN

NN

Use the controller to lower and raise the door.

Door should operate smoothly.

-






